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TIME AND WORK

3. APt ord @Y 15 RT A sy wwpar g T B 3. A can do a piece of work in 15 days and B
St #1d 3 20 AT A B wwar 31 3 I can do the same work in 20 days. Both of
PP IRH TG AP A RAF a8 them start the work together but B leaves

14 P! BIS a1 o1 frad ﬁ‘ﬁ ot after 2 days. In how many days the work

__ﬁ'ﬂ'_l? will be finished?
S ISP
T I
a) 10(2/3) days >6D

a) 10 (2/3)fe=

b) 9(2/3) & XXH—(—l{BZ 60  b) 9(2/3)days B—>op 3

c) 12fe= c¢) 12 days
\y/ﬁﬁﬁﬁ{?ﬁ HX g k’ d) None of these






TIME AND WORK

4. A folt o1d #1 25 AT A Y AHaAT B AUTB 4. A can do a piece of work in 25 days and B
It &t & 20 AT # &Y wFar g1 3 S can do the same work in 20 days. Both of
Wmmmgﬁmam*@f them start the work together but B leaves 2

,_ﬂﬁ 35' gl fe7 ugd oI dan g1 o fFaa days before the completion of the work. In
f&=t 7 quf g2 how many days the work will be finished?

'zwb“]/s-

a) 10 (2/9) &=

) 10@mdays h—2CY 1
b) 9@/ FXY - (A-2)XT b) 9(2/3) days

|0
\})/12(2/9)1%? -~ lo\) c) 12 (2/9) days B ? %D S‘
d) ¥7H 4 BI el C?Z( 4 d) None of these
X=~|loy 0=
ke, 3 T2 =)
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TIME AND WORK
5. Pt srd St A 10 f3AT H, B 12 ﬁ.:ﬂﬁaznc 5. A can do a piece of work in 10 days, B in 12

15 &=t # aﬁ*mi 3 9t tepay I days and C in 15 days. They all start the work
EW‘H Hd §, Afp Ii 2 &9 & ag i OIS together, but A leaves after 2 days and B
SATEAUTB I & Eﬂfjﬁ 3 mEa o leaves 3 days before the work is completed. In
$1 SIS gal %I o1d fpa o1 o OxT giaT 872 how many days is the work completed?

> & &Q/af
a) 5fe= a) 5 days A' T TN

b) 52: v lig, *—@L-3>>§g \/:)/Gjavs R — lQ_D <
cy 7 7 da
d) 8fe= _\—KX\(T' 6 o d) 8da§ C “"H—D 7 €o
=X = =¢o
)0k =0
QCL



TIME AND WORK
6. A {5t &rd &t 10ﬁ7ﬂﬁ B!’ﬁ 12 E?ﬁﬁ 6. A can do a piece of work in 10 days, B can

mmmammmmma do it in 12 days. They start the work

SRR d e oAt A o 3a 81 afe B together but they work on altemate days. In
B WRY &3dT g, df &4 fpa= fa=t & quf gt how many days the work will be finished if

lot? B starts the work?
H e é
a) 15 f&= 6 a) 15 days A. | D 60
11&7{ p)/(days E "\"lQ,D =
¢) 10(5/6)12? | Q10 (5/6) days

d) W@'ﬂﬁ'{ﬂ'ﬁ d) None of these
§=8
@X = (n

'R) X&-\:/ob















TIME AND WORK

7. f5dit ol &t 1 B | 7Y B g | 7. Manish takes twice as much time as Anuj

QAT 3R @9 | dF T §HE @ g and thrice as much as Vansh to finish a piece
ey @ 1 B 1 37 d |1 R wad B of work. Together they finish the work in 1
s B kUl 1 ¥ A9 grR1 ferar war wwy day. What is the time taken by Manish to

fara=n 82 finish the work?
a) 6fe a) 6 days
b) 3fea b) 3 days
o 2fe= c) 2days

d afes d) 4 days



TIME AND WORK

8. MHTY, AT AT TN AT SRR MR 8. Akash is thrice as good a workman as Vivek
gufae fAd® & 60 fa-1 &0 9wy d &rd @1 and therefore is able to finish the job in 60
H A 9HH g1 3 UP 91Y B HId §¢ days less than Vivek. In how many days will

fraa &1 # I a1d &t w1 Hn they finish the job working together?
a) 22%: ﬁ? a) 22% days
b) 1% b) 11% days
¢ 15% f&= ¢) 15% days

d) 20% &= d) 20%: days



TIME AND WORK

9. A P TS [Af¥a od A d B A 5 37 aiftre 9. A takes 5 days more than B to do a certain
TR W IR H FA A c A 9 faA job and 9 days more than C to do the same
IMFTAEIAIRBATITRIM B cF job. A and B together can do the job in the

WA HY H [T P AP ¢ | A BT T I same time as C. How many days A would

# fraa f&= e take to do it?
a) 16 2= a) 16 days
b) 10f3= b) 10 days
o 15f&= c) 15 days

d) 9fe= d) 9days



TIME AND WORK

11.P, Qa?ﬂqwﬁﬁmmtmp 11. P works thrice as fast as Q, whereas P and Q

WQWWWR'\QWF‘M@ together can work four times as fast as R. If
P14 I WFd ¢1 9fe P, Q 3R R TF WY P, Q and R together work on a job, in what
frt wrd X B1d e €, Al 3% THE W ratio should they share the earnings?

3T & fF sruTa & |re St A UPSC PT 2017

UPSC PT 2017

a) 32121 ) 3t
b) 3:2:4 D) 3:2:4
C) 4:9:4 €) 4354

d 3:1:4 d 3:1:4



TIME AND WORK

12. x 3eHt &t &1d &1 30 ﬁ’ﬁﬁwm 12. X number of men can finish a piece of work
ued g1 afg 6 gt it g, at sl in 30 days. If there were 6 men more, the

10 {1 &0 d TuTE 81 "Har 411 rgfHal work could be finished in 10 days less.
@t ga g fea- 82 What is the original number of men?

a) 10 a) 10

b) 11 b) 11

c) 12 c) 12

d) 15 d) 15



TIME AND WORK

13. % guilf1a7 300 faAT # 15 f@H @idl ¥8F  13. An engineer undertakes a project to build a
g1 Bt IRTISAT F Bl g 3R g9 road 15 km long in 300 days and employs

e & forg 45 & &t g swar gl 45 men for the purpose. After 100 days, he
100 f&= ¥ a1g, I 914 g1 @ & wew &1 finds only 2.5 km of the road has been

ad 2.5 [t § @1 gen 81 W W P completed. Find the (approx.) number of
R FA & forg I/ fFa @mvm) sifafvaa extra men he must employ to finish the
@ fFrgaa 33 81, 31a Fifeg| work in time.

a) 43 a) 43

b) 45 b) 45

£) 99 )09

d) 68 d) 68



TIME AND WORK

14. 15 31H T S &1 210 RAT A o 14. 15 men could finish a piece of work in 210
ued gl AP 100 @7 & o@ H 15 days. But at the end of 100 days, 15
fafvaa snerdt P g 81 =rd fas additional men are employed. In how many
3R f&=1 & Q1 81 smeTme more days will the work be completed?

a) 8o0fda a) 80 days
b) 60 fe b) 60 days
) 55fe ¢) 55 days

d) 50f3 d) 50 days



TIME AND WORK

15. 0% @ st d 1,000 s F fowes 15, In a garrison, there was food for 1000

HE &1 Wiw gt g1 10 AT & arg, soldiers for one month. After 10 days,
1000 3R A Bt & Wiya § & 7 1000 more soldiers joined the garrison.
§d gU Mo ¥ e 9 9@ W T How long would the soldiers be able to
urdi? carry on with the remaining food?

UPSC PT 2013 UPSC PT 2013
a) ZSﬁ'-'-l a) 25 days
b) 20f3A b) 20 days
¢ 15f&= c¢) 15 days

d) 10fe= d) 10 days



TIME AND WORK

16.UP ¢HI A I UTSU & | UTSY A TB! B WA 16. There are two pipes in a tank. Pipe A is for
& forg g 3R UI3y B P! &I WIell HI1 & filling the tank and pipe B is for emptying

RegiaRacHI St 109 d R IHaT 8 the tank. If A can fill the tank in 10 hours
3R B @I B 15 U H Wrelt S THal ¢ ol and B can empty the tank in 15 hours then
TS @Tell St B T{ﬂ ave ¥ # fpaq ue how many hours will it take to completely
N fill a half empty tank?

a) 30 ue a) 30 hours

b) 154¢ b) 15 hours

c) 20 ue ¢) 20 hours

d) Flﬁ | Hﬁf q’ﬁ d) None of these



TIME AND WORK

17.Wz'ﬂﬁﬁ?ﬁ?=mA.BGﬁ'{C§Ia?ﬁﬁ 17. There are three taps A,.B and C in a tank.

PUY: 10 °e, 20 He 3N 25 ¢ F WY 9Fd ¢! They can fill the tank in 10 hrs, 20 hrs and 25 hrs
Had Ugd 4 9 v Wiy @) oid g1 fhv 2 e respectively. At first, all of them are opened
P TACH ac I RATFETE MW A R B simultaneously. Then after 2 hours, tap C is
H T I@T TG g1 9 U F a1e, 79 B BY ot closed and A and B are kept running. After the
dG B ﬁm TG '?-I VY Fd AP T A 1Kl 4th hour, tap B is also closed. The remaining
frar mar 81 99 A gRT W4 52 M a1 &1 work is done by tap A alone. Find the
wia=ra gra Siford | percentage of the work done by tap A by itself.
a) 32% a) 32%

b) 52% b) 52%

c) 75% c) 75%

d) 99 | HIg T8l d) None of these



TIME AND WORK

18. UTSU A 3R B U® HTY WA R UH SHI P! 18. Pipe A and B running together can fill a
eﬁ‘nzﬁmm?.mﬁzuﬁéaﬂmﬁﬁ cistern in 6 min. If B takes 5 min more than

A ¥ 5 e 3iftre e 8 o A iR B gRT A to fill the cistern then the time in which A
THI B AA-AAT WA H HHN: B and B will fill the cistern separately will be
UG A respectively?

a) 15 e, 20 e a) 15min, 20min

b) 10 ﬁ?i.’, 15 fi=e b) 10min, 15min

¢) 20 fi=e, 25f=e ¢) 20min, 25min

d) Fl'ﬂ | Uﬂf =I'€f d) None of these



TIME AND WORK

19. T UIgY W URU B @M AT ATAS 19, One pipe fills a water tank three times
¥ gl Ft @l war g1 afe It Uiy faster than another pipe. If the two pipes
ey @Telt E&t 1 36 fie # W w@d together can fill the empty tank in 36 min,

g, d A urzu & P B B WA | then how much time will the slower pipe

fFa=r 999 T alone take to fill the tank?
a) 14er21fi=e a) 1h21 min

b) 1%cT48 fi=e b) 1 h 48 min

c) 24er ¢) 2h

d) 24er24fi=e d) 2 h 24 min



TIME AND WORK

20. af 12 3wt 3R 16 s At srd &1 5 20. If 12 men and 16 boys can do a piece of

fat A 7 9Pa &, 3R 13 3t 3R 24 work in 5 days, and 13 men and 24 boys
m@4ﬁﬁﬁwm§.a’rw can do it in 4 days, compare the daily
JTeHt gRT e m%ﬁwmﬁaﬂmw work done by a man with that done by
e ® gRI fbg MY e @l | Fiforg a boy?
a) 1:2 a) 1:2
b) 1:3 b) 1:3
c) 2:1 c) 2:1

d) 3:1 d) 3:1



TIME AND WORK

21. 3 ATGHI TP HTH B 6 &A1 § W1 H AHd 21. 3 men can complete a piece of work in 6

gl 5 ﬂﬁ'ﬂﬂ.{ 34l ] &1 18 AT A O days. 5 women can complete the same
HT 9Hdl gl 4 Y 3R 10 AigwQ work in 18 days. In how many days will 4
ey I od & Faa AT o L4 men and 10 women together complete the
N same work?

a) 3ﬁ7l a) 3 days

b) 5f= b) 5 days

c) Zﬁ? ¢) 2days

d) afem d) 4 days



TIME AND WORK

22. 6 AfgEY 3R 6 3wt e felt ard 22. 6 women and 6 men together can complete
&1 6 i § 1 HY 9&d 81 afe 9 wigemy a piece of work in 6 days. In how many

Abd 39 Hd Bt 10 AT A T P ol days can 15 men alone complete the piece
g, @ 15 eHl FA 3I9 & F fFaa of work, if 9 women alone can complete

o=t # @1 B 9Fd 82 the work in 10 days?
a) 6fe&= a) 6 days

b) 721 b) 7.2 days

¢ 5f& ¢) 5days

d) 90 A SIS T8l d) None of these



TIME AND WORK

23.8 %Y 3T 4 nfgane rasy P sd H16  23. 8 men and 4 women together can complete
ﬁﬁﬁwmmtlwmmw a piece of work in 6 days. Work done by a

&= o fvar mar vl v wigen gRT U @A man in one day is double the work done by
ﬁmwmﬁm%mﬁ:amaﬁu a woman in one day. If 8 men and 4 women

AREE HTH FIT = 31 R 2 T 918, 4 started working and after 2 days, 4 men left
sy o1 BIS 3T 4 78 nfgene W« & and 4 new women joined, in how many
wTe, ot sy fpaq it o I L4l g1 ST more days will the work be completed?

a) 5f& a) 5 days

b) 8fe b) 8 days

¢ 6fea c) 6 days

d aféa d) 4 days



TIME AND WORK

24. A 3R B {5t 14 BT 100 92 F H7A BT 24. A and B undertake to do a piece of work
SHTAA T ATH 5 G d Y wopar B ok for Rs. 100. A can do it in 5 days and B
B'S'\Qwﬁ"ﬁﬂmm%'caﬁm can do it in 10 days. With the help of C,
¥ g 2 A 7 wwr@ #% 3@ B1 c 7 they finish it in 2 days. How much C
SuF e & forg e yma e should be paid for his contribution?
ST 918 Q2
a) 40 T a) Rs.40
b) 20 TTA b) Rs. 20
o) 60 TTD ¢) Rs.60

d) 399 | BI% T8l d) None of these



TIME AND WORK

25.T% GlT?."ﬂ AR ' 33'35 E’IW 9y m 25. A man and a boy received Rs. 800 as wages
¢ Hd & fog 5 3T & forg aeigdt & &u for 5 days for the work they did together.
# 800 ¥Ud firet| &4 # IW gHl B garar The man's efficiency in the work was three

@e® | diF 71 ) a5F @ e wegd times that of the boy. What are the daily

fra-t 82 wages of the boy?
a) 76 39 a) Rs.76
b) 56 ¥UQ b) Rs.56
¢) 4434q ¢) Rs.44

d) 403Uq d) Rs. 40



TIME AND WORK

26. A, B 3IY C 7 1800 UL FT 314 CISIRC D 26. A, B and C completed a work costing Rs.

s fFaniaAdefRa, B afdT sk C 1800. A worked for 6 days, B for 4 days
3 9 & w14 faran) afe @ @ da= 5 and C for 9 days. If their daily wages are in
6:4F AUrd | g, df A &I fban wra the ratio of 5: 6:4, then how much will be
gm? received by A?

a) 800¥Ud a) Rs. 800

b) 600 ¥Ud b) Rs. 600

c) 900 ¥4 ¢) Rs.900

d) 750 ¥Ud d) Rs. 750



TIME AND WORK

27. 3<rg et rd 1 12 f@=1 d F wwar 81 27. Ajay can do a piece of work in 12 days.
3o IR A3 A ua wy s g1 faan Ajay and Vivek completed the work

3R IT HAW: 54 FUY IR 81 FUY HI together and were paid Rs. 54 and Rs. 81
YA far man 3% @ 9y e @ respectively. How many days must they
&Y H fpa fa= @it ghe have taken to complete the work together?
a) 4fe= a) 4 days

b) 4.5f3a b) 4.5 days

c) as8feA c) 4.8 days

d) 39 4 IS 6l d) None of these



TIME AND WORK

28.A, B 3R C &1 575 3UA A ¢P 14 B & 28. A, B and C are employed to do a piece of
mﬁﬂﬁﬂﬁfmwtumﬂﬁm work for Rs. 575. A and C are supposed to

®T 19/23 U TP |IY T ST ¢1 B B finish 19/23 of the work together.
fsarit iR 1 3ywrar fasaT s Amount shall be paid to B is

a) 210 %99 a) Rs.210

b) 10030l b) Rs.100

c) 200 ¥4 ¢) Rs. 200

d) 475 %9q d) Rs.475



TIME AND WORK

29. Up Afaa fpdt srd d17/8 yMT 21 f@ATH 29. A man completes 7/8 of a job in 21 days.

RT 4T ¢ afe F1d 50% A Fg1 &t &Y How many more days will it take him to
al 38 B TH B # R fpaa &= finish the job if quantum of work is further
N increased by 50% ?

UPSC PT 2021 UPSC PT 2021
a) 24 a) 24
b) 21 b) 21
c) 18 c) 18

d) 15 d) 15



TIME AND WORK

30. 24 T3Y 3R 12 Afgwne &=t &rd &t 30 30. 24 men and 12 women can do a piece of
fe=i A % IFd g1 12 T39 3R 24 Aigem work in 30 days. In how many days can12

It B0 &I fraq e A & g@a &2 men and 24 women do the same piece of
UPSC PT 2022 work?
UPSC PT 2022
a) 30fe= a) 30 days
b) 30 e & aftre b) More than 30 days
¢) 30fTdAsuarsofRadafte ¢) Less than 30 days or more than 30 days
d) ®I% Wt e ReTaq & fore et d) Data is inadequate to draw any

Juafe g conclusion



TIME AND WORK

31. A, B, C 3E1-3(ENT $TH Hd gV Bl S0 & HAN: 8,
16 3MX 12 3T & 1 &% 9@ 81 IPaT A HHAR B
HTH FIAT 8, AP B HTAAR B HIH BT 8, AP C
qUAR B BIH BT ¢; A 57 | apar gefaar &
ST HYaT ¢ AR T V8 T§ HH AN @1 8

FyA! R R Fifsw:
1.9€ ®TH geUfaaR &1 YT §1 S|

2. 7§ 14 10 fe=1 & gr1 81 wmgm
FYE | BH-91/2 96 B2

UPSC PT 2023

€295

31. A, B, C working independently can do a piece of work
in 8, 16 and 12 days respectively. A alone works on
Monday, B alone works on Tuesday, C alone works
on Wednesday; A alone, again works on Thursday
and so on.

Consider the following statements:
1. The work will be finished on Thursday.
2. The work will be finished in 10 days.

hich of the above statements is/are correct?
A g e \'S C UPSC PT 2023
# + Mwly A_~ ‘)

m&:) Both 1 and 2

R ~H’b§

d) Neither 1 nor 2
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